[bookmark: _GoBack]Lsg AB Flächeninhalt von Rechteck und Quadrat
1) a) 90cm²	b) 216cm²	c) 128mm²
	d) 150m²	e) 13800dm²	f) 24000dm²
2) a) 225mm²	b) 256cm² oder 2,56dm²	c) 400m²	
	d) 1,5625km² oder 1562500 m²	e) 2,25cm² oder 225mm²	
	f) 3,61 dm² oder 361cm²
3) 1. Spalte: A= 30cm²	2. Spalte: 330dm² 
3. Spalte: 3500mm²: 5mm = 700mm
4. Spalte: 100m²: 25m = 4m	
5.Spalte: 1020mm ∙ 35mm = 35700mm²
6. Spalte: 164km² : 2km = 82km
4) 120m ∙ 90m = 10 800m²  Das Spielfels ist 10 800m² groß.
5) 108m²: 18m = 6m  Das Rechteck ist 6m breit.
